Precalculus: 3.3 Theory of Equations

Questions

1. Find all the real and imaginary roots of the equation, including multiplicity
34+ Tr—322-32+22* =0

2. Find all the real and imaginary roots of the equation. including multiplicity

42t - 1223+ 1322 - 6r+1=0

3. Find a polynomial with real valued coefficients that has the following roots: _—’i with multiplicity 2, and 2 — 3i.

4. Usc Descartes’s Rule of Signs to discuss the possibilitics for the roots of the cquation

o33 —5t+7=0.

5. Usc Descartes’s Rule of Signs to discuss the possibilitics for the roots of the equation

P+ +5r=0.

6. Show that f(r) = .r® — 64 has onc real zcro of multiplicity 1.
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